


—e R — — pre— - . r —————qp - : e g P T : NP— -
b L e M LA S ‘b i it [. Fo | | - TS | SN | .
v

pe NS T e R I e N T TN et B | G| s S VPl SR . Ny g ~F .
-.._..AL_.....‘L_..‘,&.._JL_.‘L_..,L_..tl.._..n';.\__._...L.._--JL.-_._J[_._...L.__as_.....L.....L._..._nL..._AL.._._ _ TENEIN Temee= s

§10-1  REMAFAER 2

— REMA% A F' -
MNTT G5 A8 FH B TR 21 AS B A FH s 18] 22 1] Ry 484 B 34 i
PR FERR: 1. Bt AR
2. B T R

—. RENREFIBFIE
5 5 73T L ) B A
PSR, TR AR TR 4 AR b 2 S
O s — e
 PHH SRS A T LSy, BRI RN T, B A A T I B
A S A 2 s P B AR, AN RE TR P T B
b SRR P 1 5 4o ] 5 8 7= MEA T S 0 S 37«




S WS < —- s NSO S PO | WESPRY] Uy | STy ey .

=\ REFWHTR
1. BRI 75
fa i AN e B B iR R L ZAE T T e
2. APl 75w
AR LA IRAS HRSE A7 o
3. S ELE ] A
LA B A dn D9 A, 558 1 B B 31

0. ¥REEHIRN

1. R RERHRGATHI A F

2. 5 YEAE D BEAC P SR A

3. XS AN R A i € SE BT

e AR ) AL

B 1) TS
B 7= Y1

(ayay

F P REAA [R] A e o AU IR 6 o
2)FLAN BORBESeE, Frik & et it.




Sth SRS ' SEEEEE
) |

- = e~ ' ' \
. -JL..4\.‘—4L_.4L.---.JL_&-«L.—_.-.A;.. -..JE_.-...a’k-,--A LT TN TR S .._‘L... b

§ 10-2 B

PEBE R T % ﬁﬁﬁ%ﬁg,

G

%\'fjﬁli%I —Xﬁﬁ/)ﬁ;‘b %D%ﬁ/W%J E’jﬁ; [LJ

v BRBHR—F 18 B R 1 & BRI B .

e R 2 {ﬁiﬁﬁé%‘%ﬁﬁ%ﬁﬁﬁﬁ AR — —Ft
VA T B A B A ——28 Rl

FHMa R ERE { TR BOELE.
il 5 i
5 R TR A I E I TR R

LT 1B 4
{ﬁﬁ%@ﬂ&%%ﬁ@ﬁo
AN RE T i




" . 1 r - 5 "" . ' » | aoe
-JL — ‘. A . - : .L - . . b

'n__..‘k_...__.‘L__...‘ -..a[.__. L—.oL L ‘:.\_..__i.._ . i. _...4[._....-‘ —— L_...“L—.. L._—.._-L.-.._AL..._. L...._ afiie s ereead ih s aued — . GERET VNN

;%uiﬁgﬁ——éfﬁﬁﬁﬁ&ﬁ&&%ﬁ%ﬁﬁ@ﬁiﬂr'ruag\
%ﬂr

R AL RIR A ERE
2. MEREHGE M HA O (I H

MBI EE, ¥ DA T B TE T B4 T A O B T e
T BS54 5 T T S X 51

{ﬁ% SUMIEAT
LI NI IEAT

SEOFT AN 2 R A e E S AT RETE P LRI SR R

§ 10-3 BB B )] R 7 e

R D SRR
R;Wm RS r$$ﬂﬁ%£ﬁ%é£ﬁ




1&53‘7%&{3&‘
Fr s (T Yo B v AR 255 90 A F1 S
M (TR - FONEER)
N wo_ = 4
BT AR = e e 8 = 1000 =
B L P LR I, TR I e P A LB 7 B
AN, RS R .
Eﬂﬂj Kn B Ct o Cz
‘ L
A K——7AE R
Q——%%ﬁﬁ(i%);

c, 28007
C,=15007t

=)




R b s -
Yz ok, SRS, KB Y bl HLUREE Ny 1K, ﬁMﬁFﬁ
IR E{E=bL/2
M. Y=OL/2+K,/L+Cy, HrhCohlH ez,

SKARAE: dy/dL =0

g;=J2§5 10°km

BSRAE: T, :LLTG (4F)

Hrp [ — P T B,
N R BRAE K $L8% [Pl R Hofh B9
H bm: o 28 2 A s/ A A B
A g IE 1
= P=S——
1+
KA, BT H T




IR S 9 R AR AR s -
R R R
+ + o+
1+i (14i)° (1+i)"

(1+1) —1
i(1+1)"
. i1+
o (1+i)" -1
Ko MUHDT poh B R
1+ -1
+ HMEE
- Hbp: FEEPFRA A & A
'%Q‘$ﬁ%&$

(Cy+Cy) IL



"r
!

y ‘ 3 |
‘. csadiomss - e — e Bt st b 0D — - e - et onsrm ol B eoa ot & - N L

H 25 [- ==

Eﬁ Eﬁ1LEEﬁ

pl/]

12 g
Fil 5 5
R +S,<K,af+S,
PNtk
&Z’ E%ﬁé\ﬁo

=AY

R, — SR KEDH;

S, — AR (ZEHK

y —— KIETRAER G R RI ORI A 5 2 L



